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URA-GRThT 4G C ERREIS MEOZ

[ PUAT 3 IR YRADT DI a9 9P 7 Wi, 9 ab TAT B3 Bt At 7 | }

1. T¥eT URY 81 ¥ g U= GRAaT 3R SR TFd & HaR W AU T RIF & a=gdh TSR W |

2. Gte Y 3afy 2 HeT 31 WA U H A 150 UH

3. TRIET TG I T 3MTUD! URIE B BIe DI 3 8l ¢l S|

4. 39 U= JRdeT & Tt 32 TS5 & | U IRAHT DI Wi & gid sl S9! guidT &1 ofid Hbe |

5. s AfRad T GRIHT a1 IR TS UG -a! (bl SITa | et 7 &3 | forst oft ufkfufa & ufoeimas

UaT el foar Sme|

6. TP UY H IR IR faed (A), (B), (C) 3R (D) feT 7T g1 IR &I Ik T W g fgd 1 8
S 3reTT | UaH BT E B

7. T IUYH IR fadhed g IR Taferd U= T & 7 (A), (B), (C) T (D) fadheu & Md & g aRe
J W

8. IR ¢ 5q T Bl WA & fog ~fran/wren aid Wige U= 81 SauTd oY |

9. UL USH UY & IR & [o1T T ¥ 31 Ml Dl 7 1R, TR TH SR B! Tad S & ¥ H fafgd
AT G|

10.9% & foiE fQU 710 SR & U H TH IR Ml &l WA & 916, T8 3ifad g1 Ik i & A &
§1e I 9&dT el o ghdl g

11. 90 U P T uep 3 faur S| 91 TRt ® e+ (RRifea wifdm) T 81

12,918 BI3 FHeal HTH (X% H1A) HRAT ¢ Al Had U= JRIdHT IR g B | S (oY e I Pig s UaH
el forar S|

13. U8NEl Be F 3ieR pagpaer, MG SIS BT YT afeld 3|

14. TRI&T P SR T8I AR BT YATH B+, JeTIdl U B SMR/4T S aret 3naffa & s eifda
PR faar e

15.0R0e e @ U% gt | et ot favg oR SasionRor &1 7T A 35X 1 307 Sdiad Bhad &1 T
P

g U= YREIT 3R SNTHIMR TR GRAAPBT U THI IR 19 STHT St gift |

ST Slo YIS U BT ITIT e HHfSRAd faaror W

3IhHID
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Part- 1 (01-50)

1. Choose the present perfect continuous form of tense to complete the sentence.

You here for two hours.
A) are waiting B) have been waiting
C) had waited D) have waited

2 . Choose the option to fill in correct articles in the sentence.
headmaster of school was punishing boys who had not
completed their homework.

A) The, the, the B) A a, the
C) The, an, the D) A an, the

3. Fill in the blank with the appropriate tense form of the verb.

Called the 'festival of festivals', the Hornbill Festival from December 1 to 10
every year.

A) holds B) is held

C) holding D) was held

4 . Fill in the blanks with the appropriate option given below.

There may be as little as ten degrees difference between hottest and coldest
months of year in any given region.

A) the, the, the B) the, the, no article required

C) no article required, a, an D) the, a, a

5 . Which one of the following is a complex sentence?

A) While he waited at the bus station, B) Ritesh waited for the bus.
Ritesh realized that the bus was late.

Q) | looked for Ritesh and Nishant at the D) Ritesh waited for the bus, but the bus
bus station. was late.

6 . Choose the most appropriately punctuated sentence.
A) Vikram and Saranya are from Madurai. B) vikram and saranya are from madurai

C) Vikram, and Saranya, are from Madurai, D) Vikram, and saranya are from madurai.

Page 2 of 33



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

7 . Choose the sentence with correct punctuation.
A) can you help me B) you can help me.

C) Can you help me? D) can you help me?

8 . Choose the correct word from the options given to fill in the blank.

It is for all vehicle drivers and pedestrians to obey traffic rules.
A) mandetory B) mandatory
C) mendatary D) mandatery

9 . Which of the following is a declarative sentence?
A) Deepthi, look out for that tree! B) Deepthi was looking out for the tree.

C) Was Deepthi looking out for that tree? D) Please look out for the tree Deepthi.

10 . Choose the option that is an antonym of the word in capitals.
The family ACCEPTED the invitation.

A) Accused B) Admitted
C) Rejected D) Consented

11 . AT B ST FAT 8?2 / What is the capital of Lakshadweep?
A) HAAT / Kavaratti B) BIIN®BIS / Kozhikode
Q) tﬁé@?ﬂ/ Port Blair D) fd9®RI / Tinnakara

12 . 3eTiera IR A, 2023 BT faSiaT R 87 /

Who is the winner of Italian Series A 20237
A) FTUIeh / Napoli B) f&ret / Milan
O @lﬁrﬂ:ﬁ / Lazio D) \_{lﬁfﬂ / Juventus

13 . Frafafad & @ feg & & Ted ReeR T8 fRar Srar 32/

Nobel Prizes are NOT given for which one of the following fields?
A) TG TR / Chemistry B) Hifdie YA / Physics
C) XM / Peace D) Jfid / Music
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14 . YRJ & S 916H & =0 | sl ST Sl 87 /

Who is known as the maestro of flute in India?

A) IKIG 3HSIG St G / B) BTG IRRMT/
Ustad Amjad Ali Khan Hariprasad Chaurasia

C) TH.UY, MUTAH W / D) JXITG SIaR g /
M.S. Gopalakrishnan Ustad Zakir Hussain

15 . GIeT 918 Wled GRIPR 2023 fb¥= Siidr? / Who won Dadasaheb Phalke Award 20237
A) 981Gl XgHM / Waheeda Rehman B) YSIHIid / Rajinikanth
C) SfddT I / Devika Rani D) 3fd@ =M / Hrithik Roshan

16 . fFafefad & @ 11 dys 70 & & H Ui 87/

Who amongst the following is renowned in the field of Kathak Dance?

A) TS TATAY Tifde / B) T[dTdll / Gulabo
Vadakke Manalath Govindan
C) amfd ferer Taw / D) U. faRS GRS / Pt. Birju Maharaj

Vempati Chinna Satyam

17 . 3iffom Frafefed & 9 fosw ot gR1 Al foban T Uidiersy ggeiss sl 82 /

Optimus is the prototype humanoid robot launched by which one of the following companies?
A) HeT / Meta B) TWd / Apple
C) T / Tesla D) areHTe / Walmart
18 . HUTHHARY ¥ X0/ % MR US & fRd g2 /

Kanyakumari is situated in which state/UT?

A) dBETg / Tamil Nadu B) I / Kerala
C) 3SHM 3R MR g IHg / D) 31¢/ U /
Andaman and Nicobar Islands Andhra Pradesh

19 . Fofafad & § H19-91 aRa9 &1 faBR 82 / Which one of the following is a disorder of writing?

A) TRIRYRRIZISH / Hyperthyroidism B) f$¥RMRIAT / Dysarthria

¢) fe=nfthar / Dysgraphia D) %e¥ded / Cataracts

20 . BT UM 5Id BT MWW%? / What is the real name of Kala Pani Jail?

A) IR OId / Cellular Jail B) fcIgTS SId / Tihar Jail

C) MR W€ 9 / Arthur Road Jail D) 3{clqR =14 i / Alipore Central Jail
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21. G x:6::10: 128 x, %W%I/Ifx:G::m:12thenxisequa|to .
A) 6 B)5
Q7 D)8

22 . A A TH HR 3,50,000 FUT H WY 3R T 4,48,000 FUY H 94T| TP §RT HR R 3ffd
ETHEI'&I"\’HW%? / Rahul purchased a car for Rs. 3,50,000 and sold it for Rs. 4,48,000.
What is the profit percent he made on the car?

A) 25% B) 26%
C) 27% D) 28%

23 . U 3McH! TH fhdid &1 9P T ¥ 20% HH R WRIGAl § 3R I 39 I I 20%
3HfYPH W o9l B, A ITBT AT Ufa=rd 81/ A man buys a book 20% less than its
value and sells it at 20% more than its value, then it's gain percentage is

A) 25% B) 50%
Q) 75% D) 100%

24 . 19 &1 71 af 1973 T g1 o7 3R 3! RISt 30 I Bt 39 H g3 2| 7 A1 a1
P I BT O T 3R IP 3 T §lg St BT o H gafT | R &t 3y 1 iforg 5id
I@! 9t 7 a8 @t i1/ Shiv was born in the year 1973 and got married when he was
exactly 30 years old. His son was born 7 years later, and daughter was born 3 years later.
Find the age of Shiv when his daughter was 7 years old.

A) 30 ¥ / 30 years B) 47 v / 47 years
C) 40 ag / 40 years D) 45 g / 45 years

25. ﬁmﬂﬁﬁﬂ 3f&R JTd DI / Find the missing letter.

A F E
— R 7 —
J B B G
A)R B)T
Qv D)U
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26 . a1 T3 oaa H st 1 U ehH a1 T § | deIuR Ted Saie &t Ugar
PITT / The series given below contains a sequence of numbers. Accordingly identify
the INCORRECT combination.

5, 10, 40, 46, 180, 185, 741

A) 46, 741 B) 10, 46
C) 180, 741 D) 10, 180

27 . UH &l & AlRe SHI &1 I3 BE! F SaTd HHR: 13 : 12 8| A Sl &1 ufa=rd
W:IT%?/ In a class, the ratio of female students to male students is 13 : 12 respectively.
What percentage of the class is female?

A) 50% B) 48%
C) 46% D) 52%

28 . =0 &1 T3 ojaa T TSt &1 U SehH far T § | dEIuR Tad e & UgdT
PITTI / The series given below contains a sequence of numbers. Accordingly identify
the INCORRECT number.

4, 20, 100, 500, 2250, 12500

A) 20 B) 100
C) 12500 D) 2250

29. ﬁﬂﬁ'@ﬂﬁlﬁ: / Find the missing number.

7 49
? 121

A) 16 B) 14
O 11 D) 12

30 . g ¥=AT foRd: / Find the missing number.

25 16

A) 49 B) 64
C)35 D) 15
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31. X 3R Y B A HHM: 6: 5P U | g 3R SADT 3 BT ANT 33 T g1 6 TY F1G SAD!
SIY T GHCFHWE?ITH? / The age of X and Y is in the ratio 6 : 5 respectively and the sum
of their ages is 33 years. What will be the ratio of their ages after 6 years?

A)7:8 B)5:8
C8:7 D)8:5

32. U pel H =y e ue dfdd # WS €1 uuw 12 fyenfial o1 sigd aor 14 a8
3R sifcr §Rg &1 17 foorn g1 afe w25 faenfefdl &1 sird 1R 18 foba g it 137 famalf
BT YR J7d BT / In a class, twenty-five students are standing in a row. The average
weight of the first 12 students is 14 kg and that of the last twelve is 17 kg. If the average
weight of all the 25 students is 18 kg, find the weight of the 13™ student.

A) 76 TbUT / 76 kg B) 77 fopuT / 77 kg
C) 78 fbuT/ 78 kg D) 80 f&¥11/ 80 kg

33 . g UTa HHTTd 91 GATsll &1 3i9d 24 €, 1 399 9 I 981 T 8: /

If the average of five consecutive even numbers is 24, then the largest of this number is:
A) 26 B) 28
Q30 D) 36

34 . W 31&R JTd PITUI / Find the missing letter.

X L
F ?
o] L
T 8]
K H
AT B) U
OcC D) A
35.’1@3:x::8:24%?‘ﬁx, %W%I/IH:x::8:24,thenxisequa|to .
A7 B) 8
06 D)9
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36 . TH ATd B! Adls, SUD! AISTs B! IR - ¢ | Afe BT 400 TH? § Y 310d &1 dars
R ?/ The length of a rectangle is four times its width. If the area is 400 cm? what is
the length of the rectangle?

A) TET8 = 40 9 / Length = 40 cm B) TaT8 = 40 Ml / Length = 40 m

C) @aTs = 20 ¥HT / Length = 20 cm D) TETg = 10 ¥ / Length = 10 cm

37 Wﬂiﬂﬁﬁﬁﬂ aﬁvﬁwﬁﬁ%aaﬂﬁm / Find the relation and select the odd one
out.

A) S &: A9 / Jainism: Gautam B) HITdT: &SR / Mughal: Babur

@) A g W / Mauryan: Chandra Gupta D) IdrH: gvgg{\ld U / Slave: Qutb ud-Din Aibak
38 . 39 HH | HH-UT 3R W%? / Which letter is a misfit in this sequence?

AEHOU
AU B) O
OH D) E

39 . T YERCT H QU BT HISH (¢d) Hd Y 3T 391 [ §¢ iy o) 3% F1d J 98
TSP gt (RFA1S) HRIQ €| 3T T HIN? / While having lunch in a restaurant you

noticed that the old couple is getting bullied by boys sitting beside them. What would

you do?

A) fUfd R e 8t &/ B) g1 ASdI UR TH IO Tl | /
Ignore the situation Throw hot soup at the young boys

C) I 3R AR M B AT HIIWE D) §¢ ST Bl WERT U o & ford FHaill /
98 7Ad g | / Walk towards them and Ask the old couple to leave the restaurant

explain what they are doing is wrong

40 . U G TS A 3l e & 9 T § | 519 TSt H GIUGR & 4 TONT, <) 9 b1 g3 ot
%Eﬁq:ﬂofm7 / An accurate clock shows 9 o' clock in the morning. Through how many
degrees will the hour hand rotate when the clock shows 4 o'clock in the afternoon?

A) 200° B) 210°
C) 220° D) 190°

41 . 3T T %Y I &R Bl HURTI /Fill in the missing letter in the sequence given.
ZX __ TR

A)Y B) W
ORY D)S
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42 . 3119 T I3 TeA & o IRed § S1d § 3R 31! Il & b S It 3! 0iic § 98
§gd T 3R 31U olc & aex o | T & 319 &1 ey /
While visiting a showroom to purchase a watch you realized that the watch you love is
very expensive and out of your budget. What would you do?

A) TSI TR BT DI B / B) HTs Tl USI ¢l & Bl /
Try to steal the watch Look for some cheaper watch

C) YS! R Hig FivHT = 3| / D) 3T ATT-fdT & 39 3usps forw wilen & forw
Start begging on the streets qIeiTl | / Force your parents to buy it for you

43 .7fCP + Q= 2R 3RR + S = 2P g, Al FGfIREd & T HH-T1 THiHRUr Iugad g2 /

If P+ Q=2Rand R + S = 2P, then which of the following equation will be suitable?
AIP+R=Q+S B)P+ R =2S
OP+S=P+R D)P +R=2Q

44 RE'CDFH BTHISEAHE T A'KDLIM BTIHIS RTG?/
If the code of 'CD FH'is'E AHE', then what is the code of ' KD LJ M"?

AINAMGO BIGOMAN
OAMNGO DDMANGO

45 .9+ BT 3R A TS G, ' $' BT 3 "W BT §, '€’ BT 31 "% SRR Ag1" § 3R '’ BT
3 "% SRR B, A Ffafed & & -1 faded A=12 ok B = 27 » fw A= 87/
If '*' denotes greater than, ' $' denotes 'less than', '€' denotes ' not equal to' and 'rt'
denotes 'equal to', then which of the following option is TRUE for A=12 and B= 277

A) AnB B) A*B
CASB D)BSA

46 . TS TS & TAiS[g 15 A1 Rt U IR Th-gak o §S%% HRd & | F fba- g SR giil? /
At a party, 15 people present shake hands with each other only once. How many
handshakes will be there together?

A) 100 B) 150
C) 105 D) 115

47 . i SATELLITE T TBUFMMJUF & &0 & Bifed fhar a1 g, af ST bie H AIRCRAFT &I
Wﬁﬂﬁmg? / If SATELLITE is coded as TBUFMMJUF, then how AIRCRAFT can be
written in that code?

A) ZHQBQZES B) BQZESQHZ
C) BJSDSBGU D) 37H T PIs Tal / None of these
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48 . i 3T HTETaR © df 54 fa 91¢ H1-91 faq grme /

If today is Tuesday, then what will be the day after 54 days?
A) HITAAR / TUESDAY B) AR / SATURDAY
C) 9IHaR / MONDAY D) IfAaR / SUNDAY

49 X A, '+ TfpaTd fRIUE; B, - Wfpar & R e ¢, v v & fRrw @, a
(3B2)A(8B2)A(2A2)A(3C8) hT HIH HIT @Tﬂ? / If A stands for '+' operation; B stans for '-'
operation; C stands for 'x' operation, then what is the value of (3B2)A(8B2)A(2A2)A(3C8)?

A) 35 B) 30
C) 55 D) 73
50 . 399 9 fqwH &1 gHT|

Tiv: GGy, faaelt: Fie, /a: U, et ueft /
Choose the odd one out.
Snake : Reptile, Butterfly : Insect, Whale : Mammal, Rat : Bird

A) IgT: U&lt / Rat : Bird B) % WU / Whale : Mammal
C) faadt: #te / Butterfly : Insect D) iU ﬂﬂﬁq/ Snake : Reptile
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Part- 1l (51-150)

51. &F{UTE_EFTWG’%HW% / The proper indication of incomplete combustion is:
A e R g 9 6 3= co ansEtht/ B) fema R g 741 & 3= co2 Wt/

High CO content in flue gases at exit High CO2 content in flue gases at exit
C) fru gt o1 3= araHE / D) Fara=it ¥ e arar gt/
High temperature of flue gases The smoking exhaust from chimney

52 F AHA H SY-0IY 89 Iad 9Ted] Ufed A ged Hia U &) iR 3l sgd ©,
ﬁﬁ?ﬂﬁ T @I@dnl ST %I / In the case of , the number of rivets increases as we
proceed from the outermost row to the innermost row.

A) = Rafdr / chain riveting B) S-S Rafe / zig-zag riveting
C) srare RafeT / diamond riveting D) @:c’ Rafd/ straight riveting

53 . fgfefead # A -1 HYT RS G5de?) S IR A AT 8/8? /

Which of the following statements is/are TRUE about the inductor?

ARG T Aggd ach s T dad g & H  B) IRD &I L 3feR ¥ fafgd fban mn g1/
Solf GUEId HA1 81 / An inductor is an The inductor is marked with the letter L.
electrical component that stores energy
in the magnetic field.

C) WU B g R [L] PISHIRATAAM ST D) T T / All of these

%I / The inductance is measured in units
of Henry [L].

54 . WWWWWWH@T%I/ is NOT a common type of
abrasive particle.

A) RifiI® 19 F1a1SS / Silicon carbide B) TegHI-H TRIZS / Aluminium oxide

C) I Wf’s?&'/ Tungsten carbide D) XdS / Rubber

55 . fUEd IR HEHI & ot T Uit &1 UfgTRI® faeht 82T 120, 150, 140, 130 &, SATA HeH
@1 forept & fore 3 g o1 Tt (@fd) sid gatqa fasamn grme /
A company's historical sales data for the past four months are as follows: 120, 150, 140,
130. What is the 3-month moving average forecast for the next month's sales?

A) 120 B) 140
C) 130 D) 150
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56 . A SdIG H WIHd IR AIHd ghel & BT Rebls B & [oTd [heept SUTNT foar Sirar
82 / Which one of the following is used to record the number of accepted and rejected
pieces in total production?

A) FE&101 TS / Inspection card B) 3MTCRId 3ids TUG / Stores issue order
C) T 3ifex / Tool order D) Siidl eT3H fedhe / Job-time ticket

57 . TSR (G a1 ¢ fb Rafes Sie &1 [Re &1 dRS J &Y 7Y e =nfRu /

I.B.R. directs that the factor of safety of the riveted joint should NOT be less than

A) 4 B) 5

Q6 D)7

58 . S ITIH & fAIE, U Ganferd $ecd (FReiad <) HT ST FRAT g /
In order to lift water, a hydraulic ram utilises

A) ST / water hammer B) CRARRIRCAERI / centrifugal action

C) adferd (6I$§Tlr(\'10h) 0/ hydraulic press D) AR fobat / reciprocating action

59 . §b-3Sa- fITATUT H, P AT gt gl /

In break-even analysis, the total cost consists of

A) FRRR @RTd / fixed cost B) RRR @NTd + ufad+ <fie ara /
fixed cost + variable cost
C) URad= e ANTd / variable cost D) fRf3d ara + fasha Iea /

fixed cost + sales revenue

60 . 4IEm gt ufed & forw A et yumrelt & chiep! b1 T gt gl /

The standard marking system for grinding wheels has a number of symbols.
A) 5 B) 4
03 D) 2

61 . fpdt Il & SqRUT o1 WRiT & Ufd UfeRkiy & A9 &1 Y =0 & SH1 S §: /

The measure of a material's resistance to indentation or scratching is known as:
A) TgedT / Toughness B) @I / Elasticity
C) H3IRdT / Hardness D) A=4dT / Ductility
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62 . TfEHIE &1 8?2 / What is cavitation?
A) &E14 fU=d & PRUISH a0 & gaagal B) AIYHE URTcH & GRM o i &

BT F91 3R geAl / A BT F91 3R geT /
Formation and collapsing of vapour Formation and collapsing of vapour
bubbles formed due to pressure bubbles formed during temperature
variation. variation.

C) UaTE &1 fe= H ORAd & FRU ST I D) FaTg Id § dadC o o/HTa /
& gmgcﬁ' BT F 3R gcHr/ Deposition of sediments in flow
Formation and collapsing of vapour channel.

bubbles formed due to change in
direction of flow.

63 . y=fid- U e & / Refrigeration is a process of:
A) Tl RIF BT 38T HRAT IR IY URA S B) il RIF BT 70 31 AifchT 38 uRaxT &

AU ¥ &HH dIHH | &4 38T / AU ¥ &HH dIHH W &4 38T /
Cooling a space and maintaining it at a Heating a space but maintaining it at a
temperature below the ambient temperature below the ambient
temperature. temperature.

OfFfi e e aRITuRaw s D) il =M &) $81 H1 Afe I uRaAw &
ATTH 31 IIHM R §97¢ 1G] / AT 31 IIHH R §91¢ 3@-T11 /

Heating a space and maintaining it at a Cooling a space but maintaining it at a
temperature higher than the ambient temperature higher than the ambient
temperature. temperature.

64 . Uh SR T B! (Y T T TSI &: / A vertical strut is known as:
A) §1H / Beam B) ¥iH / Column
C) 31&flT §¢ / Axial force D) d-1d Ufded / Tensile Stress

65 . 5d UdTg § 3ifd &) HSH & Y 390 3 fhgeT IuanT fHar o Iadi 82 /

Which of these can be used for understanding turbulence in fluid flow?
A) YATEY TBAT / Reynolds number B) &I AT / Nusselt number
C) UiSd T®AT/ Prandtl number D) ST T®AT / Biot number

66 . }sd AT & Mk W T # wrgs fAfei wex e S § 1/

In straddle milling, number of side milling cutters are mounted on the arbour.
A1 B) 2
03 D) 4
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67 . QTS (1) & T TH & Y & YR 1 ol ars, foreT teh 8R fRR g 3R g1 3R fedr
g3l g, 8/ The crippling load for a column of length () with one end fixed and
the other end hinged, is

A) iEl/1? B) m*El/41°
C) 2r’El/I? D) 4rEl/I?

68 . Fufafad # ¥ -3 a7 ot v uRuRe ufshar g2 /

Which of the following is a conventional process of machining?

A) degRNRIAG (Gadcidbiied) AT/ B) gade a| =i/

Electrochemical machining Electron beam machining
C) Iy (i) gt / D) $URE 3R ol WRIE (ELC AY) /
Ultrasonic machining Capstan and Turret Lathe

69 . SE-g9-2T3H (Semsch) fafawfur &1 @ g1/

Just-In-Time (JIT) manufacturing aims to:

A) T Gl 34 TR B HAGAT HIAT/  B) WIS TIH Dl HH BT/

Maximize inventory levels Minimize lead times
C) 99 IdTGH dgMT / D) 3fa3@Ie &I FTaT &1 /
Increase batch production Promote overproduction

70 . 51 98% & U ¢aha Pl A P <= & 1Y Waid U I AcHT offdl o, o I8 gH=M b
fo=m o TR §11 87 / When a piece of magnet is suspended freely with silk fibre, it
always adjusts in which direction?

A) Elﬁ—tﬂc%'q/ East -West B) STR-GI&UT / North - South
C) SR Yd-Gf&mr ufgy / D) IR UfEH-g R yd /
North East - South West North West- South East
71. QEFE’:TEIQﬁﬂ:T _ %W%I / One tonne of refrigerationisequalto ____ .
A) 200/KJ/Min B) 210/KJ/Min
C) 220/KJ/Min D) 230/KJ/Min
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72 . Uh SYAH GRS &WWW / An optimum project schedule is meant for:

A) TRTSHT & T gAqH Hd arTd B) O, A=A 3R Il &1 3paw Iua 9§
Y HH YHI ST JHI A g1 / 81/ Optimum utilization of men, machines
Lowest possible cost and shortest and materials

possible time for the project

C) &1 71 91137 & e WaaH TR D) ufaier1 &1 ¥8g R Fuea 351/
I TRA A Gl / Producing the Timely execution of project
best results under given constraints

73 . T g12d & 1Y Yol H A g B0 I8l /

Pully with rope drive has a usual groove angle of

A) 20° B) 35°
C) 45° D) 60°

74 . Bud)/~fives Safid §: /

CAD/CAM relates to:

A) fa iR SoffaReT / B) fafafur 3R fauur /

Science and engineering Manufacturing and marketing
C) fEwme SR fquur / D) fesireg iR fafmor /

Design and marketing Design and manufacturing

75 . Te BT IUDBRV, Sl Ueb 3 P GAM Sil & AfbT 398 el a1 TereR Sigdt & ary &3
Hleq I fHR Bld 8, IV H T JA1 8: / The cutting tool, that is similar to a drill but has

several cutting edges with straight or helical flutes is known as:

A) JHX / Reamer B) |3€'R / Driller
C) ®cX / Cutter D) fieR / Miller

76 . LSS & foQ I BT HTRAGA Il & AR SRS [ ____ A $I S1axgdd

BT 81/ Extrusion needs force and drawing needs force.
A) HUTS®, HUTS® / B) I, T /
compressive, compressive tensile, tensile
C) dd4, ﬁfﬁﬁ/ tensile, compressive D) W@Fﬁ, - / compressive, tensile
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77 . =R fau U o T HI0T o FTR? / In the diagram below what is the angle @ ?

m — T TR

A) HAT DI/ Cutting angle B) 3fUR=YUl HIUT / Shear angle
@) i & HITT / Cutting edge angle D) IFRRE W/Angle of depth

78 . Ed 99 € WUe bt AT & forw fagm/ee FRuffa gl /

For machining of flexible threaded shaft rest is prescribed.

A) TRR / steady B) ST / follower
) faf¥rd / mixed D) ﬁg/turning

79 . 1 Hiex daTg 3R 1 foraum ufd Hier & Thaee 4R T 43 g3 WRa qafdid §iu & meg o
HURYU §¢f 81 / The shear force at the middle of a simply supported beam of
length Tm and loaded with a uniform load of 1kg per meter would be

A) 19/ 1 newton B) 3.14 <1/ 3.14 newton
C) 0 2/ 0 newton D) 10 }Yc- / 10 newton

80 . faf~mtor ufaar & St ufshar &1 I SRk R 9 & fou frar Srar & /

The boring process in the manufacturing companies is generally used:

A) WW%%’Q/ For external cutting B)Wﬁﬂﬁ?@ﬁ"ﬂ)%m/

For external surfacing (polish)

C) forht I T AN 8¢ I ST HA P D) YRS & -1 & forg /

/ To enlarge an existing hole in a To create an initial hole
workpiece
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81. 3¢ 1 m? 3R B &THA aldl Fciex W A &7 & daad fe= & 1 ged &1 9d
T ST 8, <Y 3V e & R I Ufdaad 811 / If a force of 1 newton is
applied across a cylinder of cross sectional area 1 m?, in the direction perpendicular to
the area normal, the stress produced on the cross sectional area will be

A) 3T UfAdd / shear stress B) TURRWIT Ufdad / tangential stress
C) UMY Ufdad / normal stress D) 3MOdH Uidead / volumetric stress

82 .54 & WY P I AT S & [hdl 3 WY & 1Y Aferd dxb [l aRa Uard & U fog
TR TE1d A0 & U fh s SUHRUT &1 IUANT faa S 82 /

What is the device used for measuring the pressure at a point in a fluid by balancing the
column of the fluid with the same or another column of the fluid?

A) 5T / Guage B) SRIHtex / Barometer
@) AfeR / Manometer D) 9l YRR 7191 / Bellow pressure gauge

83 . Fufefad & T fge! Taie g $H 27 /

Which of the following has the lowest melting point?
A) Tidh (SIfSiTT) WeeR / Brazing spelter B) dlalT / Copper
@) H’g’@l@/ Soft solder D) Ryear e / Silver solder

84 . IR a1 fagga Iare Faffad gri ura &Y fasan 51 qwar 8: /

Solar thermal power generation CANNOT be achieved by:

A) BIGRIT HadeR I }IeRiReey & SUART  B) Tkic We dade’! & ST gRT /

&R / Using focusing collector or Using flat plate collectors
heliostats

C) IR dIA1E & SN §RT / D) B1Id DI 584 & =Y H IGINT gR /
Using a solar pond Using coal as fuel

85 . fAuferiad & @ o1 siefres uerd Agi 87 /

Which of the following is NOT a semi-conductor material?
A) GIG! / Copper B) IRINCAG / Silicon
@) \_rl'ﬁ:ﬁm:[/ Germanium D) Aferaw @m / Gallium Arsenide

86 . Tlol HUTKHTT H, See & g Yobel A BT &b U H foran Siretl &
(Slgl x = WWW%I) / In flange coupling, the pitch circle diameter of bolts is taken

as . (where x = Diameter of the shaft)
A) 3x B) 4x
C) 5x D) x
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87. Udh gy TR Uik g1/ is abrasive machining process.
A) OSUT GITEfUET) / Grinding B) f$fefT / Drilling
¢) fafe T / Milling D) f&<ur (@f<i™) / Punching

88 . T X1 U T a%g & forad v gt §: /

A line is a geometrical object that has negligible:

A) 9TSTE 3R TS / Width and depth  B) Fad TTSTS / Width only

C) adl TTERTS / Depth only D) AISTE, TMERTS 3R HaTS / Width, depth and
height

89._  WRiHIpd Br & RRI &1 9dd & &1 Uufsban g1 /

is the process of bevelling the ends of the machined work.
A) 9fd7T / Grooving B) THIT / Chamfering
@) BRI/ Facing D) TW / Taper

90 . FAEfaRed & @ &H-3 te TR-uRuRke a=fifHT ufehar g2 /

Which of the following is a non-traditional machining process?
A) f$fefT / Drilling B) forarg (ffei™) / Milling
C) W1 (fegri-d) ARt/ D) AIS (€fT) / Turning

Ultrasonic machining

91 . SR & IR s H s HFTUBR B: /
In the circumferential joint of boilers, the type of joint is:

A) R SR Wie & 1Y §¢ WIS / B) S SR Wi & Y §¢ WilS /
Butt joint with single cover plate Butt joint with double cover plate

C) U T & 1Y R I SMARATIRA Y D) IR b 3faRald & gU aHl R & Iq1Y
AT SIS / Lap joint with one ring AT SIS / Lap joint with both ring
overlapping the other overlapping the third

92 . I & 3fd H Julesh dei (IR Riciex) H Sl R AV @l 3, g/

The space that is remaining in the compressor cylinder at the end of the stroke is
A) §UTE® &HdT / compressor capacity B) 3 G&fdT / volumetric efficiency
C) fue fawumuA / piston displacement D) 3RURN ST / clearance volume
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93. WW@TW%I / is independent of the sales forecasting.
A) dTehdl / Productivity B) gt 901 / Inventory control
C) 3digH ChTrFlT/ Production planning D) 3dila- ﬁ'CFI'UT/ Production control

94 . TfE T S P! et -l gl oY Al U] G&fal T g /

If a screw jack is said to be self-locking, then what will be the efficiency?
A) 50% ¥ & / Less than 50% B) 50% o sRTeR / Equal to 50%
C) 50% ¥ 31f&b / More than 50% D) 1

95 . &1 & I [aH &1 o F1 52 /
What is the expression for Newton's law of Viscosity?

A) t = p(du/dy) B) t = p(dy/du)
C) S= p(du/dy) D) u= T(du/dy)

96 . ABC faawur yurelt &, fhd IR &1 axg (3M18eH) C UHR HI 57 /
In ABC analysis system, which type of item is C type?

A) T T 3R SHfed TR / B) & T 3R HH A1 /
Less quantity and More cost Less quantity and Less Cost
C) 3% AT 3R $HH ANT / D) 3HTee AT 3R 31 AFTd /
More quantity and Less Cost More quantity and More cost

97 . AR TN F T BT IUANT [HaTSar 8l /

is used to make semiconductors.
A) R / Silicon B) BTaH / Carbon
C) T/ Gold D) @&l / Copper

98 . T AUl St A & R 39 Ton & fmrar & o, gt Sigut e & J| e o vefkia
HAT B, I SRR FHgl A &: /
A material that exhibits the same properties throughout its entire extent, without
variation in its properties within the sample, is often referred as:

A) dI9ER / Elastic B) WTRE / Plastic
C) SITay / Homogeneous D) AR / Isotropic
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99 . Tsh JHdd TR T Tl T YA Th g1/

Projection of a sphere on a planeis a
A) 9@ / cylinder B) gd / circle
C) fdg / point D) X1/ line

100 . STl &7 URY Fufeiad & 3 fead v fear s g2 /

Bernoulli's theorem is used in which of the following?

A) o 3t 3ol / Lifting of aircraft B) WIglsl &I IAM / Movement of a ship
C) AT wRa 1 fmor D) I /
Formation of the boundary layer Venturi meter

101 . DF-1 A foelt Irmht (qard) & oo uRwse &7 (A) R iNed Ufdad (o) & 0T

hdl %? / What formula calculates normal stress (o) on a material's cross-sectional area

(A)?
Ao=F/A Blo=F*A
C)o=A/F D)o=FF/A

102 . 3if¥pdw fURa @ Imm) e Rgid s Wi sersnargl/

Maximum principal (or normal) stress theory is also called:

A) TRE 3R %1 &1 Rigid / B) Tc dic Rigid /

Guest's or Tresca's theory Saint Venant's theory

C) ¥ o7 RIgid / Rankine's theory D) B91 I Riid / Haigh's theory

103 . U QU I1 radciare aqur 7, 3iefi & s &1 6101 31 8id1 82 /

In an isometric projection, what is the angle between the axes?
A) 120 fedt /120 degrees B) 45 gt/ 45 degrees
C) 60 st / 60 degrees D) 90 fsilt / 90 degrees

104 . fAgfafad & § SH-T1 HY A 82 / Which one of the following statements is TRUE?

A) T TYTRT YRT H URad- &1 falg Har  B) T FuTlRe diees # URad- o1 faviy

g1/A capacitor opposes a change in FHIABI/ A capacitor opposes a change
current in voltage

C) T HYTRA Xifad H fkad= &1 farly D) T TTRA, YRT 3R decsl H gRad &1
FRATgl/ A capacitor opposes a change Ry HRATE1/ A capacitor opposes
in power changes in current and voltage
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105 . SoliafT g # e sile &1 3= 1 gl g2 /

What is the purpose of a title block in an engineering drawing?

A) ST 1 X otract Wi | UgH B) $dd WG (S dTel) BT ATH ST /
Rl / To provide the drawing's title To mention only the author's name
in a decorative font

C) ST Pt Ug= AT, TrT FAfdy D) Tied &ty & g S1271 & IRY 3R T §iae

AT 3R IS FHBRI UGH BT/ To  §FT/ To create a border around the
identify the drawing, specify the scale, and  drawing for aesthetics
provide essential information

106 . ST & H1H J RN & HioH HRab Th Hary R FRaR g Mwed a9 & fog fog
UfshaT ST IUTIT faa ST 82 / Which process is used to create a seamless and
continuous metal profile by forcing the material through a die?

A) TR I / Extrusion B) BT / Forging
O o (@ﬁl"’l) / Swaging D) e / Rolling

107 . 399 q DIF-U1 T 3 IhoRe o1 Fifesd 07 82
(1) SreaaTeha (2) fatan (3) sifspa (4) T /

Which of these is the desired quality of a good refrigerant?
(1) Not flammable (2) Toxic (3) Inert (4) Odourless

A)13R3/1and3 B)2 3R 4/2and 4
C)13R4/1and4 D)2 3R3/2and 3

108 ﬁfaﬁao‘rmnﬁaasm%mw% / Gantt charts are used for:
A) W/ Forecasting B) fAuRwr/ Scheduling
C)W O / Linear programming D) 3dlad W/ Production schedule

109 . FEfIRad # ¥ SI-11 W 9RT (1), e (V) 3R k1Y (R) & sTa Jeiy Tl 82 /
Which of the following laws gives the relationship between current (I), voltage (V) and
resistance (R)?

A) 309 &1 99H / Ohm's Law B) TTeH &1 f9H / Charles Law
C) 91gd &I 99 / Boyle's Law D) S[d &1 399 / Joule's Law

110 . Frofifad § 3 S1-a1 sr1 faggd A @=geie”) 82/

Which of following is good Insulator?

A) dTaT / Copper B) SIegHIIH / Aluminium
C) IFS / Rubber D) el / Silver
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111 . §11 & SIS HTEU0 §d (V), b 3Tl (M), 3R AT BT &R (w) P S o1 A&y 872 /
What is the relationship between shear force (V), bending moment (M), and the rate of
loading (w) along a beam?

A) V = dM/dx B) M = dV/dx
OQVv=w/M DDM=w/V

112 . 5 3R diee W ST & e {5 YR & B ¢at (CU) &1 IuaiT fovar Sran 82 /

Which type of cutting tool (tap) is used for threading on screws and bolts?

A) THd-fdg BHle BT IUHRT / B) % Pl BT SUBRUI /
Single-point cutting tool Centre cutting tool

C) ST HRA aTQT SUSBRUT / Boring tool D) §g-fdg ®TeA &1 IuHRT/
Multi-point cutting tool

113 . gMHTGd fo=n & 9gd ool o gH- arel e /

A very fast rotating shaft in an anticlockwise direction will:

A) SR & FaY Fae UFT IR Tudh M1/ B) o1 ¥ o7 &1 U §HTd g4 99T & &l

Have contact at the bottom-most of the 3R TS| / Move towards the right of the

bearing bearing making metal to metal contact
C) ST & a5 SR TN o erd W ofg D) 4T & 4T T b §-Td gY SR & a8

o1 U Tl BN / Move towards the 3R I | / Move towards the left of the

right of the bearing making no metal to bearing making metal to metal contact

metal contact

114 . {3l Trmht &1 a8 7701 S fopeft wrder Ama o Hefia s § fores ary fadt wmh &
HIeT off Yabdll 8, 3 Hel Sl §: / The property of a material which refers to a relative
case with which a material can be cut is known as:

A) @BR / Toughness B) HTRdT / Brittleness
C) TEATYA / Ductility D) HRMHIT / Machinability

115 . T SH A 10 Hiex Pt SHams ddb oId (G- 1000 famy ufa o fiex) iR gan g1 i § 5
Hiex &1 TER18 IR U I Qidl ST § | YaTg &1 ov F1 52 ([ @xul HI 10 Hiex ufd arf
JPh S TTY) / A drum is filled up to a height of 10m in height with water (density 1000 kg
per cubic meter) at the depth of 5 meters from the top, a tap is opened. What is the
velocity of efflux? (take acceleration due to gravity as 10 m per square second)

A) 31.4 H/"/31.4m/s B) 10 Hi/& / 10m/s
C) 100 H/& / 100m/s D) 3.14 HI/™ / 3.14m/s
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116 . ¢d IR Y Jded gl / elements are there in tool signature.
A)5 B) 6
Q7 D)8

117 . e for el fiie o) foelt Rt weref & g S @, ) %d §RT SR 1 3R Teb f vl ©
3R g e gRT faRitd qRa & aoi & SRIeR 81 9ol ¢ | ST [Ad STRer™! §d &I -5
%Wﬁ\_ﬂ'ﬂTG’IﬁT%/ When a body is immersed in a fluid, an upward force is exerted
by the fluid and this may be equal to the weight of the fluid displaced by the body.
The force responsible for this is known as:

A) Wﬁﬁﬂ &1 &% / Centre of gravity B) 3MTlddhs / Metacentre
C) 3&dIdehdl / Buoyancy D) ij‘l:[ (HTRTIR) / Equilibrium

118 . 3fAIbS H DXF B ST BIAT R 1 / In AutoCAD, DXF indicates:

A) SET ZedS HIRd / B) fdSIsT WISd / Windows file
Drawing interchange file
(@S] ST WISd / Drawing file D) tﬁ?]%ﬁgm/ Post script file

119 . &I & o fram o 82 / How many laws are there for robots?
AT B) 2
03 D)4

120 . 379 9 {5 3raedfes Ufshar AT ST JebaT 87 /

Which of these can be considered as an abrasive process?

A) TI3EX UTg@H / Powder Metallurgy B) 3AiaCI fewdTSl HRITT /
Electron discharge machining
C) {3t/ Drilling D) {2 / Grinding

121 . Frufafad # @ $1H-91 te IRaged TarETe Aisd g S Juifad fAofal & forg &3 Ia
faxaTar 8?2 / Which one of the following is a branched flowchart model showing multiple
pathways for potential decisions?

A) f70fa ge1 / Decision Tree B) 3R / PERT

C) el A8 / Inventory Model D) TiciiedT X1 (@fd arg) Ared /
Waiting Line Model
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122. M T TRIS aTel HeRA! a-1d (Er-d ¥R o) Fafefed 3§ 3 fea /A W
Hﬁ%ﬂ?ﬁﬂ%” / Torsional shear stress in a shaft is maximum at which of
the following locations?

A) TR 3781 H S H 3R I18<1 I8 / B) de® 318 / Neutral axis
Midway between the neutral axis and
the outer surface

Q) §T8~] Idg / Outer surface D) HIot a8 / Inner surface

123 . 919 YUTSH U= aeh H, B 1 9 gic TRIAOR &b U H B Bl § S5l WpeiRe
3318 ara uerd I T &t Sfa=nfid HRAT8? / Ina vapor compression refrigeration

cycle, which component acts as the heat exchanger where the refrigerant absorbs heat
from the substance being cooled?

A) HeTmR / Condenser B) EI'I'EﬁWUIH'Flf/ Evaporator
C) foR drea / Expansion valve D) HUR / Compressor

124 . iR & 98 99M W Id1eH & forg, =il Tarad B wrufiear St 1/

For mass production of gear, machine operation is preferred.
A) TTSfET/ grinding B) TSI / drilling
C) WY / lathe D) AT / milling
125 . O1$9 3UTd BI & ST & T H GRUTG fsar T gl /
Poisson's Ratio is defined as the ratio of:
A) s ufaea § sifved fawfd / B) Uii¥e famfa ¥ sieffa fawfa /
Normal stress to normal strain Lateral strain to axial strain
C) 3eftg faspfa T uies fawfa / D) 300 Hfded & Sqeuuy fagfa /
Axial strain to lateral strain Shear stress to shear strain

126 . Tyl ToreRT geieH (o) 9 R SR ST g: /

Total Quality Management (TQM) emphasizes on:

A) FHART UFERT BT HH HRAT/ B) FRI&1uT- 3M1eTiRe Torarr fei=ror /
Reducing employee involvement Inspection-based quality control

C) FR@R Gur a1 wrfr / D) T[UTaRT {301 T 3eTrd /
Continuous improvement Isolation of quality control
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127 . -} Ufhar 35U & GoUHM &I HH B Ti? /

Which process will reduce the mass of the workpiece?
A) IR afe&TT / Wire Welding B) Cih+T (fSiT) / Brazing
O ﬁﬁ'ﬁ/ Milling D) T I (Q—I\IQ'SQ ) / Soldering
128 . Ticila (afea) THen &1 g A & e sregarenl ok el # Fafeiad o ¥ fyg geiee

JUHT BT JUANT {1 ST 82 / Which of the following management tools are used in
hospitals and banks for solving the waiting problem?

A) Fidted / cPm B) W$3MREY / PERT
C) difereT (Zdest) fd=ur yurrett / D) %R 4G / Queuing Theory

Inventory Control System

129 . SRS §91 & fore R o1 SuT fhar ST § wifep: /

Silicon is used to make diode because:

A)CI—G’WS@TW%I/ B)H—G’WG{W%I/H is a semiconductor
It is a good conductor
C) 98 U® faggd At @gaiex) §1/ D) T8 U& fehd T B/ It is an inert gas

It is an insulator

130 W@ﬁﬂﬂﬂﬂ%ﬁiﬁ / Green sand used in casting:
A) BT T A BIAT R / Is green in colour B) 3{T% TUTH Pt it gl /

Has moisture content

C) TS TureH Y el ere 21 / D) I8 X ©, S Bl -idh Uerdf 3 e ot et g1/

Has no moisture content Is sand obtained from the organic materials

131. CATIA I GRI Al fabdT 7T UT| / CATIA was launched by .
A) 3TSETH / [BM B) SYicc RICHW / Dassault Systémes
C) Ut / PTC D) $SITH / EDS

132 . U SiaRM fdg 3t 3R Yarfed g arell Hof YR I SierH fog § R aifed g areit
$d YRT & SRR gIaiT 81" I8 By fTm faam AT / "The total current flowing towards a
junction point is equal to the total current flowing away from that junction point" This
statement was given by:

A) 3f/F &1 399 / Ohm's Law B) fhal® &1 99 / Kirchhoff's Law
C) HRTS &1 T / Faraday Law D) Siad &1 AT / Boyle's Law
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133 %@"I@Wﬂf&mw% / EDM is an abbreviation of:

A) Zoiae fEware A=/ B) Zaiae 4 fSUIfoTe A=/
Electron Discharge Machining Electron Deposition Machining
C) 3reif feeamet AT / D) Soit fEwarst Aifeg /
Early Discharge Molding Easy Discharge Molding

134 . <1 fopeft Th Uil & T BT ITD! eI B 1Y HH P Bi U UlhaAT g1 /

turning is a process of reducing the diameter of a workpiece along its length.
A) 9fd7T / Grooving B) IHH T / Chamfering
C) Wi/ Facing D) TR / Taper

135 . fAufafad # 3 S 91 &3 I 8/37
. dee (V) T dieed v, THRR (A) H 9RT 1 3R 31 () & UfaRiY R & AT & SRR g
II. 39 () B, UfaRie R diee (v) H dieed V &l TR (A) H 4RT 1 F faHiiord &9 & RIS 3|
/
Which of the following statements is/are TRUE?
l. The voltage V in volts (V) is equal to the current | in amps (A) times the resistance R in

ohms (Q).
ll. The resistance R in ohms (Q) is equal to the voltage V in volts (V) divided by the current |
in amps (A).

A) 6ad | / Only | B) &ad Il / Only II

C) @Ft 1 3R 11/ Both 1 and 11 D) 375 ¥ ®I3 7181 / None of these

136 . UGB (UeaRTZIA) & 3T 7T FHSIA 82 / What do you mean by Pulverisation?
A) T &1 JURRUFT T P &1 Sa-T / B) I Bl Blc-BIc HUNl H hIeHl /

Burning of coal in presence of air Cutting of coal in smaller particles
C) B Bl ISR & =0 H G/ D) Sifde AguuT & oy Siad &t JHTs /
Grinding of coal in powder form Cleaning of coal for biological contamination
137 . gHITY 35 &) REiee RURY 3id-Hed) fies W WRARI/
The default position of the UCS icon is positioned at on the Auto-CAD grid.
A 1,11 B) 1,0,0
0)0,1,0 D) 0,0,0
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138 . T ANT = / Work cost =
A) Traed) @Td / Factory cost B) WYl @I / Primary cost
C) %ac T / Factory expenses D) Wi ANTd + Thdedt &g /

Primary cost + Factory expenses

139 . YT &1 S| THTS HT Bl 82 / What is the SI unit of Viscosity?
A) Ns/m? B) kgf-sec/m?
C) Nm/s D) Ns/m

140 . IS HUT &1 Y 1 fAaa a1H 10,000,00 TUY 3R Y 1 Fa@ I9T™a 50,000,00 & <l
HUT BT ATY HISH FT 82 / What is the profit margin of the company if its net profit is
Rs. 10,000,00 and net revenue is 50,000,007

A) 20% B) 25%
C) 10% D) 30%

141 . T TRIEUT T B! AHES 1ol dals, B b AN Bl g gl /

The standard gauge length of the tensile test specimen is times the diameter of
the rod.

A)S B) 6

Q7 D) 8

142 . SR ATSTT 3R FAHTor R4 & fore IuanT fhw ST aTd At TR &l
AledmR & ¥ § SHI ST 8 | / The software used to perform geometric modelling

and construction is known as software.
A) SITRTET / operating B) UfIh= / application
C) A / graphics D) W / programming

143 . 30 IR WR, ol B ASTS BT 3IUTT BT 31 (ST8T D = XU T ) /
Generally, the proportion for the width of the key is
(where D = Diameter of shaft)

A) 0.5D B) 0.33D
C) 0.25D D) 0.1D
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144 . Fufa §7 ST YR TAH w0 3 fadikd 8 399 s 3mgul uRad &1 Tobd B8l gl

87 / Where does the bending moment change sign in a supported beam with a
uniformly distributed load?

A) §19 & Aeafag W/ B) §TY 3YR (JUIE) W /
At the midpoint of the beam The left supports
C) PHTER-TH figai v/ D) &1 TR (JUIS) TR /
At the quarter-span points At the right supports
145 . o1 YB3 Hifde Tufy veieq &t U fafd & =u o g8, o feft Tie ot

ORETe AT &t & B & forg fafmfor 7=t & 991 [am 8fk gurA R dfaa &t /

started as a method of physical asset management focused on maintaining and
improving manufacturing machinery, in order to reduce the operating cost to an
organization.

A) BT / Kaizen B) Ifa (HM4fd) / Anthropology
C) Ut fa=eiNuT / ABC analysis D) IdiTd / TPM

146 . fagyd Hiex Teh IUaHT ¢ o gRafdd Hdr g /

The electrical motor is a device that converts:

A) ST Sl B faggd SHeif 7 / B) ST SHoll B! TifAH Sl H /
Heat energy into electrical energy Heat energy into mechanical energy

C) TifA® o1l &l faggd SHoll # / D) faggd Sull & Fifs ol H /
Mechanical energy into electrical energy Electrical energy into mechanical energy

147 . AraeR A1 & iR urf a1 iR e e aH1d & SUTd &I 59 ©0 H ST ST | /

The ratio of lateral strain to longitudinal strain within the elastic limit is known as:
A) FﬁEITﬂTITCIW/ Modulus of elasticity B) UT'SZF:THO"[ 3{UId / Poisson's ratio
C) SR HIUi® / Shear modulus D) e HYih / Bulk modulus

148 . fordlt TR verdf & HR T SR fddt e aRd Uerd & UR 99 & SUTd &I &gl
ST 8: / The ratio of the weight density of a fluid to the weight density of a standard
fluid is known as:

A) fafR1® ¥ / Specific gravity B) fafRI¥ e / Specific volume
C) SHM Y- / Mass density D) [Af&d 99 / Specific weight

149 . FAgfafad & ¥ SH-I1 U TRfET Red 82 / Which is an operating software?
A) ToFa / Linux B) U / ANSYS
C) 3iTeIPhs / AUTOCAD D) THTY 3H1hd / MS Office
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150 . T13{1 U=Rftae &m gId 81/ Feron refrigerants are .

A) STARIE / inflammable B) FArifadft ok sreaam=ita /
non-toxic and non-inflammable
C) fauTad / toxic D) fatar 3R TWhIfa=fie / toxic and inflatable
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QUESTION BOOKLET SERIES C SUBJECT CODE M EOZ

[ Do not open this question booklet until asked to do so. ]

INSTRUCTIONS TO CANDIDATE

1. Fill up the necessary information in the space provided on the cover of Question
Booklet and the Answer Sheet before commencement of the test.

2. The duration of the test is 2 Hour. There are 150 questions.

3. You will not be allowed to leave the examination hall till the exam gets completed.

4. This booklet contains 32 Pages. Please check for completeness of the Question
Booklet immediately after opening.

5. No spare Question Booklet or Answer Sheet will be provided. Do not make mistakes.
Replacement will NOT be provided under any circumstances.

6. Each question has four answer options marked (A), (B), (C) and (D). Answers are to be
marked on the Answer Sheet, which is provided separately.

7. Choose the most appropriate answer option and darken the circle completely,
corresponding to (A), (B), (C) or (D) against the relevant question number.

8. Use only Blue/Black Ball Point Pen to darken the circle for answering.

9. Please do not darken more than one circle against any question, as scanner will read
such marking as wrong answer.

10. Once an oval is darkened as answer to the question, it is final. Answers option once
darkened cannot be changed.

11. Each question carries one mark. There is NO Negative Marking.

12. Rough work, if any, is to be done on the Question Booklet only. No separate sheet
will be provided/used for rough work.

13. Calculator, Mobile, etc., are not permitted inside the examination hall.

14. Candidates seeking, receiving and/or giving assistance during the test will be
disqualified.

15. Do not seek clarification on any item in the Question Booklet from the test invigilator.
Use your best judgment.

THIS QUESTION BOOKLET AND OMR ANSWER SHEET ARE TO BE RETURNED ON COMPLETION OF THE TEST.

Please fill in the following details using ball point pen.

Roll No.

Name Signature
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Mechanical - Version C

Question No Answer keys Question No Answer keys Question No Answer keys
1 B 51 A 101 A
2 A 52 C 102 C
3 B 53 D 103 A
4 B 54 D 104 B
5 A 55 B 105 C
6 A 56 A 106 A
7 C 57 A 107 A
8 B 58 A 108 D
9 B 59 B 109 A
10 C 60 A 110 C
11 A 61 C 111 A
12 A 62 A 112 D
13 D 63 A 113 C
14 B 64 B 114 D
15 A 65 A 115 B
16 D 66 B 116 C
17 C 67 C 117 C
18 A 68 D 118 A
19 C 69 B 119 C
20 A 70 B 120 D
21 B 71 B 121 A
22 D 72 A 122 C
23 B 73 C 123 B
24 B 74 D 124 D
25 C 75 A 125 B
26 A 76 D 126 C
27 D 77 B 127 C
28 D 78 B 128 D
29 C 79 C 129 B
30 A 80 C 130 B
31 C 81 A 131 B
32 C 82 C 132 B
33 B 83 C 133 A
34 C 84 D 134 D
35 D 85 A 135 C
36 A 86 A 136 C
37 A 87 A 137 D
38 C 88 A 138 D
39 C 89 B 139 A

40 B 920 C 140 A
41 C 91 C 141 A
42 B 92 D 142 C
43 A 93 A 143 C
44 D 94 A 144 A
45 C 95 A 145 D
46 C 96 C 146 C
47 C 97 A 147 B
48 D 98 C 148 A
49 A 929 B 149 A
50 A 100 D 150 B
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